
Spiel 1 Spiel 2 Gesamt

Spiel 21 13:04 C 1 JURKOWITSCH Pascal 47 + 55 = 102 1 1

C 2 HAHN Ernst 69 + 42 = 111 3

Spiel 22 13:12 C 3 ACHLEITNER Christian 64 + 56 = 120 4

C 4 FREINSCHLAG Marianne 51 + 52 = 103

Spiel 23 13:21 C 5 FURTLEHNER Gerhard 57 + 51 = 108

C 1 JURKOWITSCH Pascal 54 + 63 = 117 4 1

Spiel 24 13:29 C 2 HAHN Ernst 52 + 57 = 109 3

C 3 ACHLEITNER Christian 62 + 56 = 118 3

Spiel 25 13:38 C 4 FREINSCHLAG Marianne 55 + 54 = 109

C 5 FURTLEHNER Gerhard 53 + 52 = 105 1

Spiel 26 13:46 C 1 JURKOWITSCH Pascal 63 + 60 = 123 2 1

C 3 ACHLEITNER Christian 54 + 59 = 113 1

Spiel 27 13:55 C 2 HAHN Ernst 65 + 52 = 117 1 1

C 4 FREINSCHLAG Marianne 46 + 47 = 93

Spiel 28 14:04 C 3 ACHLEITNER Christian 52 + 64 = 116 1 2

C 5 FURTLEHNER Gerhard 42 + 51 = 93 1

Spiel 29 14:13 C 4 FREINSCHLAG Marianne 50 + 54 = 104

C 1 JURKOWITSCH Pascal 46 + 42 = 88

Spiel 30 14:21 C 5 FURTLEHNER Gerhard 54 + 47 = 101 1

C 2 HAHN Ernst 58 + 57 = 115 1


